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Choose the correct answer:

1) Methylated spirit burns with a spark when we try to light a wick dipped in it.
What type of combustion is this?

a) Spontaneous

b) Slow

¢) Rapid

d) Explosion

2) Choose all the correct zones of a flame in a candle.
a) Light zone b) Dark zone  c¢) Luminous zone d) Non-luminous zone

3) Look at the diagram of the ovum and the classification key. Choose the option
with the correct labels for P, Q, and R.
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a) P: Zona pellucida, Q: Corona radiata, R: Nucleus
b) P: Nucleus, Q: Corona radiata, R: Zona pellucida
c) P: Corona radiata, Q: Nucleus, R: Zona pellucida

d) P: Nucleus, Q: Zona pellucida, R: Corona radiate




4) Organ X in the female reproductive system has a blockage due to some
abnormality. Choose what would happen because of this

Fallopian tubes
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a) The ovaries will not produce ova.

b) The ovum will not enter the fallopian tubes.
¢) The sperm will not reach the ovum.

d) The ovum will not be released from the ovary.
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Choose if True or False.

a) The nucleus in the sperm carries the genetic information of the mother.

b) A sperm has 3 parts: head, midpiece and tail.

¢) The midpiece in the sperm contains mitochondria, nucleus, and acrosome.

d) The tail of the sperm uses the energy produced by the mitochondria to move.




6) Match the following:

A B
Head Pushes the sperm for forward
Mid piece Carries the genetic information of
the father
Tail Generates energy

7) Choose all the substances that will undergo slow combustion.
a) Candle b) Kerosene c) Petrol d) Wood

Assertion reason type guestions.
(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true and R is not correct explanation of A
(c) Ais true but R is false.
(d) Ais false but R is true.

8) Assertion (A): Metals are sonorous.
Reason (R): They are generally brittle in the solid state, they break into pieces
when hammered.

9) Assertion (A): Large number of mitochondria are present in the middle piece of
sperm.
Reason (R): Numerous mitochondria in the middle piece of sperm produce
energy which is required for their movement.

Answer the following questions:

10) Radha was trying to ignite the candle wick as it was wet. She was not successful.
which condition for combustion was not fulfilled? Explain why you think so.

11) What type of chemical reaction is this? Give a reason for your answer.

CuCO, ——» Cu0 + COq




12) Read the equation and answer the questions.
a) Zinc + Copper sulphate —— Copper +Zinc sulphate

Explain the changes involved in this reaction.
b) Which metal is more reactive? Give reasons for your answer.
CASE STUDY:
13) Any chemical reaction in which heat and light are evolved is called combustion. It
Is a chemical process in which substances react with oxygen in the air to produce
energy. Burning of matchsticks, dry leaves, magnesium ribbon, coal and LPG are

all examples of combustion.

1) What are the conditions necessary for combustion to take place?
2) Give two examples of combustible and non-combustible substances.




